MEEG 4003 Quiz #19.m26.093

1. ® Add the missing terms in the following equation
Oppg =0pp T 0pg+ O T O0gpg T

so that it will become a correct formula representing the addi-
tion theorem for angular accelerations of rigid bodies A, B, P,
Q, and R moving in three-dimensional space.

2. At the instant ;=3 radss Y
shown, the antenna N, the “v:=8rads’

body E, and the body A
execute angular motions
as labeled. Determine the
angular velocity @y and
the angular acceleration
o, Of the antenna N.

1 Opg =Opp T Opnt Ogp T 0p,
T X Wy p + ('OQ/B X O‘)P/Q + Og g X (’OQ/R ®

2. Oy = Oy + Oy T Oy
0y=21+75J+2.60K rad/s ®

(")E - (OE/A + (!)A - 21+6J rad/S
oy = O0nE T Oga T 0y + O XO\E T Oy X O/
=8(c0s60°J+sin60°K)+0+10J
+(21+6J)x3(cos60°J+sin60°K)+6J x 21

o, =15591+8.80J —2.07K rad/s? ®



